L7 h

2021 4 11 H 18 H (K)

P-1

2 L %k %k kok ok i kok  oskk ok sk 0 sk %k ok %k sk sk sk skosk ok ok
DOODLEEDE® DOODEEDE®® DOBOD®EEDE® DOBDEEDE®®
(G fir ks e ETAEE HDCP | NET s = NE {7 B E A4 0 de 0 ® B |GROSS| HDCP T
(-3 A=t 44 .6 344/ SING (#Hex A [H 49 49 [12.0 .0
YEER S —% 44 .6 34.4 K 5ofif |2 H Tkt 49 : 49 112.0 .0
SNL | HkFH = 50 .6 | 34.4\H RIS Y 49 : 49 112.0 .0
47| FH —4& 37 4| 34.6H BANL | FKH  EME 42 42 | 4.8 .2
S| | FH— 43 .4 34.6|H 5oL | HEAS  HE— 42 42 | 4.8 .2
607 | JER & 49 4| 34.6H 560 | [FMH:  FlZ 42 42 | 4.8 .2
EVAR=S > 48 .2 | 34.8H 57TAL | ARJIT % 48 48 1 10.8 .2
8O | il 47 .0 | 35.0H 58T | &8 [T 48 : 48 | 10.8 .2
i | B RATE 46 .8 35.2|H IR/ iV 54 54 | 16.8 .2
10N | AR i 46 .8 35.2|H 60N | FEHE  Svk 41 41 | 3.6 A4 TRE
LIGE | S Sk 46 .8 35.2 6107 | ARl B 47 47 | 9.6 4
1207 | &5 s 39 .6 | 35.4 6200 | FAT Bl 47 47 | 9.6 4
L3 | 565 #— 45 .6 | 35.4 630 | &R IR 47 47 | 9.6 4
L4067 R ESE 44 .4 35.6 (ZIA N = 47 47 | 9.6 4
16507 | &5 B 43 .2 35.8 6507 | +H R4 47 ‘ 47 | 9.6 4
1607 | .1 = 49 .2 35.8 6607 | 7PN FnHI 47 : 47 1 9.6 A
17467 | EfE = H] 49 .2 35.8 67HAL | S #iE] 47 47 | 9.6 4
18 | FEEF  fdiSC 42 .0 36.0 68H7 | W & —ER 47 47 | 9.6 4
190 | | iE(E 42 .01 36.0 690 | W FnA 53 : 53 | 15.6 .4
200 | #RH  FE 42 .0 | 36.0|FE 7007 | FEEF  JE - 46 46 | 8.4 6 | TE
210 | B FERR 42 .0 36.0 TN | KBt 5k 46 46 | 8.4 .6
2207 | FE Th 48 .0 | 36.0 200 I K 52 ; 52 | 14. 4 .6
230 | AR Fnfd 48 .0 ] 36.0 TN | B 52 52 | 14. 4 .6
2407 | LA BRE 41 .8 36.2 TN | STH  BET 39 39 | 1.2 .8
2507 | FHHE M 47 .8 ] 36.2 VAR N 39 39 | 1.2 .8
260 | R B 47 .81 36.2 60 | =F  BRIG 45 45 | 7.2 .8
2747 | dkEy B35l 47 .81 36.2 T | FEIR Tl 1 45 45 | 7.2 .8
2807 | - TR 40 .6 | 36.4 T8 | B AR AT 45 : 45 | 7.2 .8
200 | BRH  BEC 40 .6 | 36.4 TN | A% —HB 45 45 | 7.2 .8
3007 | o vEEE 40 .6 | 36.4 TRE 807 |fHIEE  H 51 51 |13.2 .8 |TRE
S| W E— 46 .6 | 36.4 SN | ANt Bk 51 51 | 13.2 .8
3207 | IRAS 1E R 46 .6 | 36.4 82/ir | B 2 51 : 51 [13.2 .8
RRY\VAIIE YR vig i 45 .4 | 36.6 83N | ILIA T 44 44 | 6.0 .0
SANL | RIS 45 .4 36.6 AL | THH 1R R 44 : 44 | 6.0 .0
35NL | Wk HER% 51 .4 36.6 850L |4 F  HERI 44 44 | 6.0 .0
360 | I IR 51 .4 | 36.6 86N | F:  FIA 44 | 44 | 6.0 .0
3THL | et 1B 51 .4 | 36.6 8L |y wmE - 50 50 [12.0 .0
(| —= EHA 38 .2 36.8 88 | A iE— 50 - 50 | 12.0 .0
ML KB AN 44 .21 36.8 89 | #AJE  1ERA 50 : 50 [12.0 .0
4007 | Z2PH 1HIE 44 .2 | 36.89RE 90NZ | [l fFn 56 : 56 | 18.0 L0 RE
4147 | =W pER 44 .21 36.8 917 | &Ry IER 43 43 | 4.8 .2
4207 | 5= 5N 44 .2 ] 36.8 927 | BERR R 43 : 43 | 4.8 .2
4307 | P 2E 44 .2 36.8 9L | 2B B 43 ; 43 | 4.8 .2
4407 | JEelg SEIR 44 .2 | 36.8 9NL | LA 2 43 43 | 4.8 .2
450 | A | 50 .2 ] 36.8 9507 | INRE A 49 49 110.8 .2
4607 | 0 IEXC 50 .2 36.8 9607 | ARA  FE 49 ‘ 49 10.8 .2
47hr | K — 50 .2 36.8 9T | e x K JEE 49 49 110.8 .2
480 | /A i, 50 .2 36.8 98NL | )11 Fk— 55 : 55 | 16.8 .2
4907 | FHFH PSS 50 .21 36.8 9L | R ERT 48 48 | 9.6 4
AR SRR 37 .0 | 37.0 7RE 10047 | AR HE 54 : 54 | 15.6 LA TRE )
REFLAD N —7 77



w7 H T P-2
2021 4 11 H 18 H (K)

f2Uk-hv: 78 kok ok oskosk ok 1e kok  oskk ok sk 0 sk %k ok %k sk sk B kk kokokok

DOODLEEDE® DOODEEDE®® DOOBDEHEDE® DOBDEEDE®®
(G fir iR E2E W dt ¢ # M |GROSS| HDCP | NET it = JIE {7 B 4 P dc © #  m (GROSS| HDCP | NET 1t z )
1010 | K& 14T 3 L 41 41 | 2.4 38.6 151 |'2 W —%& B8 ! 3 58 116.8 | 41.2
102 | B e 41 ; 41 | 2.4 | 38.6 16247 |¥rdr =248 ; - 51 51| 9.6 | 41.4
10302 | #AA i+ ; - 53 53 |14.4 | 38.6 16307 | Aot ZEHE 51 : 51 9.6 | 41.4
L040L | AR Fn'E 53 | 53 | 14.4 | 38.6 15407 | /L fE—RR 55 | 55 | 13.2 | 41.8
10507 | A B ; 46 46 | 7.2 | 38.8 15507 | 3FriE —5& 54 ; 54 |12.0 | 42.0
10607 | PrH i 46 46 | 7.2 | 38.8 15607 |F k1 3 - 54 54 |12.0 | 42.0
1077 | Ak —1= : 46 46 | 7.2 | 38.8 I5TAL | Bl FE - 60 3 60 | 18.0 | 42.0
108 | & & 3 46 46 | 7.2 | 38.8 158AL | /N N 3 62 62 [20.0 | 42.0
1090 | %46 #h7] 46 : 46 | 7.2 ] 38.8 15907 | K& T+ : b8 58 | 15.6 | 42.4
11007 | AH T - 52 ¢ 1 52 113.2 | 38.8|9E 16007 Kl fiR : - 51 51 | 8.4 42.6
AR i . 52 ; 52 113.2 | 38.8 1614 | 1A Bz : © 50 50 | 7.2 ] 42.8
11247 | N 8L 1 51 : 51 [12.0 | 39.0 16237 | B A% fdide 50 : 50 | 7.2 42.8
L1332 | /NI FllZ 51 ; 51 |12.0 | 39.0 163002 | AR #74h, 56 ; 56 1 13.2 | 42.8
LIANE | IR 5 50 : 50 110.8 | 39.2 16417 | B #ER 62 : 62 |19.2 | 42.8
L1507 | Merde g 50 | 50 1 10.8 | 39.2 16507 |1 =5 X 55 | 55 |12.0 | 43.0
L1607 | fE A 3 50 50 | 10.8 | 39.2 16647 | flilE  IF 55 : 55 | 12.0 | 43.0
INVEITAR NEAE C TN - 50 ¢ 3 50 [ 10.8 | 39.2 167A7L | &)1l A — 3 63 63 [20.0 | 43.0
1180 | H i+ 3 - 50 - 50 [10.8 | 39.2 168\ | ¥kN B+ 3 - 54 54 110.8 | 43.2
11907 | 7t #E - 56 : 56 | 16.8 | 39.2 1690 | ‘&K W+ : 53 531 9.6 | 43.4
12007 | EHIE R+~ : 49 49 | 9.6 | 39.4 RE 17067 | K B . 58 : 58 |14.4 | 43.6
12147 | A F & 3 49 49 | 9.6 | 39.4 171067 | N 28k Bl 3 51| 7.2 ] 43.8
12207 | R FHAT ; 49 49 | 9.6 | 39.4 172067 | B EHEI1 ; ~ 50 50 | 6.0 44.0
12307 | R B3 : 42 42 | 2.4 39.6 IWRIVAR N = 64 : 64 [20.0 | 44.0
12407 | FE  HIA ; - 54 54 | 14.4 | 39.6 L7407 | Al JE4D 64 : 64 |19.2 | 44.8
12507 | [XHH il | 54 54 114.4 | 39.6 17507 | Av)IT - - | 61 61 | 14.4 | 46.6
12607 | ‘& R, e : 4T 47 | 7.2 39.8 17607 | A HA- : 68 68 120.0 | 48.0
127067 | 1A FAR 53 3 53 1 13.2 ] 39.8 17702 | BB #Fn 3 68 68 120.0 | 48.0
12807 | $exii  mEME 3 b3 53 |13.2 | 39.8 1781 | &M # 70 3 70 120.0 | 50.0
12907 | 354 2= 46 : 46 | 6.0 | 40.0 L7907 | IR 227 73 : 73 120.0 | 53.0
13007 | A H &1T : 46 46 | 6.0 | 40.0 FRE : 1 1
13147 | A B 3t : - 52 52 112.0 | 40.0
13202 | Al 5L+ : © 52 52 [12.0 | 40.0
1337 | &= R ; - 58 58 118.0 | 40.0
13447 | SpJR esst 58 | : 58 | 18.0 | 40.0
136002 | A / ]l #hA 60 ; 60 |20.0 | 40.0
13607 | £ 5L 60 | 60 |20.0 | 40.0
137Hr | & H B8k 60 | 60 | 20.0 | 40.0
13847 | PEAT  ErE- 3 51 51 110.8 | 40.2
13907 | A F7p% - 51 : 51 110.8 | 40.2
14007 | 5 W54 51 : 51 |10.8 | 40.2 RE
AL HE =%k 50 ¢ : 50 | 9.6 | 40.4
1420 | Hh | Felk : b5 55 | 14.4 | 40.6
L4307 | N 3k— - 55 ; 55 | 14.4 | 40.6
4407 | O ZFE 55 : 55 | 14.4 | 40.6
14507 | JiT. gk 54 : 54 |13.2 | 40.8
14607 | A H  EHEF | 54 54 | 13.2 | 40.8
ATOL| I #H— 60 | 60 | 19.2 | 40.8
L48Q7 | KFn ALAR 60 : 60 | 19.2 | 40.8
14907 | IR 7=t 3 - 59 59 [18.0 | 41.0
| 150f7| kBT EXR | 52 52 |10.8 | 41.2 JRHE )

KRB N —2 T



